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Lesson 14 –Multiplication & Division –Multiply by 4
NC Objective:
Count from 0 in multiples of 4, 8, 50 and 100
Recall and use multiplication and division facts 
for the 3, 4 and 8 multiplication tables

Resources needed:
Differentiated Sheets
Teaching Slides
Concrete equipment such as numicon, 
cubes, counters, etc.

Vocabulary:
Multiplication, groups, repeated 
addition, double, multiples

Building on their knowledge of the two times table, children multiply by 4.
They link multiplying by 4 to doubling then doubling again. Children connect multiplying by 4 to repeated 
addition and counting in 4s.
To show the multiplication of 4, children may use number pieces, cubes, counters, bar models etc.

Key Questions:
How many equal groups do we have? How many are in each group? How many do we have altogether? Can y
ou write a number sentence to show this? Can you represent the problem in a picture? Can you use concrete a
pparatus to solve the problem? How many lots of 4 do we have? How many groups of 4 do we have?

They focus on multiplying 4 by 2, 4, 5 
and 10. They write the repeated 
addition number sentence and also the 
multiplication number sentence next to 
the word problem in their book. They 
can show working out using equipment, 
arrays or bar models.

They write their own repeated addition 
number sentence to match each pictorial 
representation/ word problem and they also 
write the multiplication calculation used. 
They can show working out using arrays or 
bar models.
Function machine: Children can explain what 
is the same and what is different about 
multiplying by 2 and 4.

Children on this sheet are fluent in 
multiplying by 4. They use known 
facts to solve the multiplication 
questions. E.g. 75 x 4. Children to 
work out 70 x 4, then 5 x 4 and add 
together to find the answer.

Reasoning & Problem Solving

Working Towards Working Within Greater Depth
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Show the repeated addition and multiplication number sentence you have used to solve each problem.

There are five towers of 4 cubes.
How many cubes are there altogether?

There are 4 jars with 4 marbles in each.

How many marbles are there altogether?

There are ____ dice with _____ dots on each.

There are _____ fours.

____ x ____ = ____ dots.

There are ___ dice with ____ dots on each.

There are _____ fours.

____ x ____ = ____ dots.

x2 x2

x4

2
x2 x2

x4

5

Complete the function machine. Complete the function machine.

4 8

x2 x2

x4

10
x2 x2

x4

4

Complete the function machine. Complete the function machine.

20

2

10 4

5



masterthecurriculum.co.uk

Fluency & Precision 3AnswersMultiply by 4

Show the repeated addition and multiplication number sentence you have used to solve each problem.

There are five towers of 4 cubes.
How many cubes are there altogether?

There are 4 jars with 4 marbles in each.

How many marbles are there altogether?

There are ____ dice with _____ dots on each.

There are _____ fours.

____ x ____ = ____ dots.

There are ___ dice with ____ dots on each.

There are _____ fours.

____ x ____ = ____ dots.

x2 x2

x4

2
x2 x2

x4

5

Complete the function machine. Complete the function machine.

4 8

x2 x2

x4

10
x2 x2

x4

4

Complete the function machine. Complete the function machine.

20

2

10 4

5

5 x 4 = 20

4 x 4 = 16

2 4
2

2    4      8
10 4

10
10    4    40

8

10 20

20

40 8 16

1640
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Show the repeated addition and multiplication number sentence you have used to solve each problem.

There are seven towers of 4 cubes.
How many cubes are there altogether?

There are eleven jars with 4 marbles in 
each.

How many marbles are there altogether?

There are ____ dice with _____ dots on each.

There are _____ fours.

____ x ____ = ____ dots.

There are ___ dice with ____ dots on each.

There are _____ fours.

____ x ____ = ____ dots.

x2 x2

x4

2
x2 x2

x4

11

Complete the function machine so that the 
answer is the same.

Complete the function machine so that the 
answer is the same.

4 8

x2 x2

x4

6
x2 x2

x4

4

Complete the function machine so that the 
answer is the same.

Complete the function machine so that the 
answer is the same.

12
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There are ____ dice with _____ dots on each.

There are _____ fours.

____ x ____ = ____ dots.

Show the repeated addition and multiplication number sentence you have used to solve each problem.

There are seven towers of 4 cubes.
How many cubes are there altogether?

There are eleven jars with 4 marbles in 
each.

How many marbles are there altogether?

There are ___ dice with ____ dots on each.

There are _____ fours.

____ x ____ = ____ dots.

x2 x2

x4

2
x2 x2

x4

11

Complete the function machine so that the 
answer is the same.

Complete the function machine so that the 
answer is the same.

4 8

x2 x2

x4

6
x2 x2

x4

4

Complete the function machine so that the 
answer is the same.

Complete the function machine so that the 
answer is the same.

12

7 x 4 = 28

11 x 4 = 44

8

22 44

44

24 8 16

1640

2 11

410

6 4
6

6 4     24

9 4
9

9 4    36
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Show the number sentence you have used to work out the answer.

If I had ninety-three dice and they all showed 4 
dots, how many dots would I have altogether?

There are forty-four tables in a hall.

How many legs are there?

There are twenty-five towers of 4 cubes.
How many cubes are there altogether?

There are fifty- seven jars with 4 marbles in 
each jar.

How many marbles are there altogether?

It is achievement assembly and thirty-five 
children receive four certificates each.
How many certificates were given out 

altogether? 

There are eighteen carrots planted in a row. 
There are 4 rows. How many carrots are there 

altogether?

3Multiply by 4

Show the number sentence you have used to work out the answer.

If I had ninety-three dice and they all showed 4 
dots, how many dots would I have altogether?

There are forty-four tables in a hall.

How many legs are there?

There are twenty-five towers of 4 cubes.
How many cubes are there altogether?

There are fifty- seven jars with 4 marbles in 
each jar.

How many marbles are there altogether?

It is achievement assembly and thirty-five 
children receive four certificates each.
How many certificates were given out 

altogether? 

There are eighteen carrots planted in a row. 
There are 4 rows. How many carrots are there 

altogether?



masterthecurriculum.co.uk

Fluency & Precision

masterthecurriculum.co.uk

Fluency & Precision

Fluency & Precision 3AnswersMultiply by 4

Show the number sentence you have used to work out the answer.

If I had ninety-three dice and they all showed 4 
dots, how many dots would I have altogether?

There are forty-four tables in a hall.

How many legs are there?

There are twenty-five towers of 4 cubes.
How many cubes are there altogether?

There are fifty- seven jars with 4 marbles in 
each jar.

How many marbles are there altogether?

It is achievement assembly and thirty-five 
children receive four certificates each.
How many certificates were given out 

altogether? 

There are eighteen carrots planted in a row. 
There are 4 rows. How many carrots are there 

altogether?

3Multiplying by 4

Show the number sentence you have used to work out the answer.

If I had ninety-three dice and they all showed 4 
dots, how many dots would I have altogether?

There are forty-four tables in a hall.

How many legs are there?

There are twenty-five towers of 4 cubes.
How many cubes are there altogether?

There are fifty- seven jars with 4 marbles in 
each.

How many marbles are there altogether?

It is achievement assembly and thirty-five 
children receive four certificates each.
How many certificates were given out 

altogether? 

There are eighteen carrots planted in a row. 
There are 4 rows. How many carrots are there 

altogether?

20 x 4 = 80
5 x 4 = 20
80 + 20 = 100

50 x 4 = 200
7 x 4 = 28 200 + 28 = 228

90 x 4 = 360
3 x 4 = 12
360 + 12 = 372

40 x 4 = 160
4 x 4 = 16 160 + 16 = 176

120 + 20 = 140
30 x 4 = 120
5 x 4 = 20

10 x 4 = 40
8 x 4 = 32 40 + 32 = 72

Answers

20 x 4 = 80
5 x 4 = 20
80 + 20 = 100

50 x 4 = 200
7 x 4 = 28 200 + 28 = 228

90 x 4 = 360
3 x 4 = 12
360 + 12 = 372

40 x 4 = 160
4 x 4 = 16 160 + 16 = 176

120 + 20 = 140
30 x 4 = 120
5 x 4 = 20

10 x 4 = 40
8 x 4 = 32 40 + 32 = 72
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Multiply by 4

Multiply by 4

Here is an orange strip of paper.

A green strip is four times as long.

The strips are joined end to end.

How long is the green strip?

Explain how you know.

Here is an orange strip of paper.

A green strip is four times as long.

The strips are joined end to end.

How long is the green strip?

Explain how you know.

20 cm

20 cm

Malachi has four bags with two sweets 
in each bag.

Rosie has three bags with four sweets in 
each bag.

Who has more sweets?

How many more sweets?

Draw a picture to show this problem.

Malachi has four bags with two sweets 
in each bag.

Rosie has three bags with four sweets in 
each bag.

Who has more sweets?

How many more sweets?

Draw a picture to show this problem.

Malachi has 4 bags. Rosie has 3 bags.

4 cm

Malachi has 4 bags. Rosie has 3 bags.

4 cm



masterthecurriculum.co.uk

Reasoning & Problem Solving

masterthecurriculum.co.uk

Reasoning & Problem Solving

3

3

Answers

Answers

Multiply by 4
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Rosie has more sweets.
She has four more sweets than Malachi.

The orange strip is 4 cm long. The green strip is 16 cm long.
The green strip is 4 times as long as the orange strip, so there 

are 5 equal parts in total, and the length of each part is: 
20 ÷ 5 = 4 cm long.

To find the length of the green part: 4 × 4 = 16 cm.

Here is an orange strip of paper.

A green strip is four times as long.

The strips are joined end to end.

How long is the green strip?
Explain how you know.

Rosie has more sweets.
She has four more sweets than Malachi.

The orange strip is 4 cm long. The green strip is 16 cm long.
The green strip is 4 times as long as the orange strip, so there 

are 5 equal parts in total, and the length of each part is: 
20 ÷ 5 = 4 cm long.

To find the length of the green part: 4 × 4 = 16 cm.

Malachi has four bags with two sweets in
each bag.

Rosie has three bags with four sweets in 
each bag.

Who has more sweets?

How many more sweets?

Draw a picture to show this problem.

Here is an orange strip of paper.

A green strip is four times as long.

The strips are joined end to end.

How long is the green strip?
Explain how you know.

20 cm

20 cm

Malachi has four bags with two sweets in
each bag.

Rosie has three bags with four sweets in 
each bag.

Who has more sweets?

How many more sweets?

Draw a picture to show this problem.

Malachi has 4 bags. Rosie has 3 bags.

Malachi has 4 bags. Rosie has 3 bags.

4 cm

4 cm
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Multiply by 4

Multiply by 4

Malachi has four bags with two sweets in
each bag.

Rosie has three bags with four sweets in each 
bag.

Who has more sweets?

How many more sweets?

Draw a picture to show this problem. How long is the green strip?

How long is the orange strip?

Explain how you know.

Malachi has four bags with two sweets in
each bag.

Rosie has three bags with four sweets in each 
bag.

Who has more sweets?

How many more sweets?

Draw a picture to show this problem. How long is the green strip?

How long is the orange strip?

Explain how you know.

Here is an orange strip of paper.

A green strip is four times as long.

The strips are joined end to end.

20 cm

Here is an orange strip of paper.

A green strip is four times as long.

The strips are joined end to end.

20 cm
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Answers

Answers

Multiply by 4

Multiply by 4

The orange strip is 4 cm long. The green strip is 16 cm long.
The green strip is 4 times as long as the orange strip, so there 

are 5 equal parts in total, and the length of each part is: 
20 ÷ 5 = 4 cm long.

To find the length of the green part: 4 × 4 = 16 cm.

Malachi has four bags with two sweets in
each bag.

Rosie has three bags with four sweets in each 
bag.

Who has more sweets?

How many more sweets?

Draw a picture to show this problem.

How long is the green strip?
How long is the orange strip?

Explain how you know.

The orange strip is 4 cm long. The green strip is 16 cm long.
The green strip is 4 times as long as the orange strip, so there 

are 5 equal parts in total, and the length of each part is: 
20 ÷ 5 = 4 cm long.

To find the length of the green part: 4 × 4 = 16 cm.

Malachi has four bags with two sweets in
each bag.

Rosie has three bags with four sweets in each 
bag.

Who has more sweets?

How many more sweets?

Draw a picture to show this problem.

How long is the green strip?
How long is the orange strip?

Explain how you know.

Here is an orange strip of paper.

A green strip is four times as long.

The strips are joined end to end.

20 cm

Here is an orange strip of paper.

A green strip is four times as long.

The strips are joined end to end.

20 cm

Rosie has more sweets.
She has four more sweets than Malachi.

Malachi Rosie

Rosie has more sweets.
She has four more sweets than Malachi.

Malachi Rosie
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Multiply by 4

Malachi has five bags with four sweets in
each bag.

Rosie has four bags with five sweets in each 
bag.

Who has more sweets?

How many more sweets?

Draw a picture to show this problem.

Here is an orange strip of paper.

40 cm

A green strip is four times as long.

The strips are joined end to end.

How long is the green strip?

How long is the orange strip?

Explain how you know.

Malachi has five bags with four sweets in
each bag.

Rosie has four bags with five sweets in each 
bag.

Who has more sweets?

How many more sweets?

Draw a picture to show this problem.

Here is an orange strip of paper.

40 cm

A green strip is four times as long.

The strips are joined end to end.

How long is the green strip?

How long is the orange strip?

Explain how you know.
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Answers

Multiply by 4

Multiply by 4

Rosie and Malachi have the same number of sweets.

The orange strip is 8 cm long. The green strip is 32 cm long.
The green strip is 4 times as long as the orange strip, so there 

are 5 equal parts in total, and the length of each part is: 
40 ÷ 5 = 8 cm long.

To find the length of the green part: 4 × 8 = 32 cm.

Malachi has five bags with four sweets in
each bag.

Rosie has four bags with five sweets in each 
bag.

Who has more sweets?
How many more sweets?

Draw a picture to show this problem.

Here is an orange strip of paper.

40 cm

A green strip is four times as long.

The strips are joined end to end.

How long is the green strip?
How long is the orange strip?

Explain how you know.

Rosie and Malachi have the same number of sweets.

The orange strip is 8 cm long. The green strip is 32 cm long.
The green strip is 4 times as long as the orange strip, so there 

are 5 equal parts in total, and the length of each part is: 
40 ÷ 5 = 8 cm long.

To find the length of the green part: 4 × 8 = 32 cm.

Malachi has five bags with four sweets in
each bag.

Rosie has four bags with five sweets in each 
bag.

Who has more sweets?
How many more sweets?

Draw a picture to show this problem.

Here is an orange strip of paper.

40 cm

A green strip is four times as long.

The strips are joined end to end.

How long is the green strip?
How long is the orange strip?

Explain how you know.

Malachi Rosie

Malachi Rosie


